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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  In many respects, though, calling speech “primary” and writing “secondary” unfortunately
has a second-class status when compared with speech.
1) implying that writing 2) has implications that writing
3) implies that writing 4) which imply that it is writing that
2-  —eeeeeeeeeeeee information not just about the quality of the toy but about the occupations
of household members, their annual income, the Kinds of automobiles they drove, and so
forth.
1) A series of questions following this statement that elicit
2) Following this statement were a series of questions eliciting
3) Following this statement a series of questions was to elicit
4) To elicit, a series of questions and this statement were followed by
3-  ————-—-—- the notions of social distance and power relationships are related—disparates,
for instance, tend to be more socially distant from one another than equals—the
categories are nevertheless distinet,

1) Although 2) Inasmuch as
3) So along as 4) For all

4-  Excesses often accompany these stereotypes: the savage has brutish appetites for
violence, -——=-eecemeeeee and prone to criminality, and can tolerate unusual amounts of
pain.
1) impulsive 2) for impulsivity
3) to be impulsive 4) is impulsive

5-  Through logical analysis, Wittgenstein held that we could arrive at a conception of
language ----—-==mmmmun related by the now-familiar elements of first-order logic.

1) which consists of elementary propositions and
2) to consist of elementary propositions, that is

3) of which elementary propositions consist and is
4) as consisting of elementary propositions
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6-  Our highly differentiated vocabulary for street crime contrasts sharply with our limited

vocabulary for corporate crime, -=----eseeeeaes,

1) corresponding to the fact that the general public's unawareness of the extent of
corporate crime

2) a fact that corresponds to the general public's unawareness of the extent of corporate
crime

3) the general public's unawareness of the extent of corporate crime corresponding to
that fact

4) to that fact that the general public's unawareness of the extent of corporate crime
corresponds

PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the sentence
to be correct. Then mark the correct choice on your answer sheet.

7- A text means what it means not because of any inherent objective linguistic features
1

but because it is generated by discursive formations,each being withits particular
2 3
ideologies and particular ways of controlling power.
4

8- By sociolinguistic competence is meant the knowledge of “the extent to which utterances
1

are produced and understood appropriately in different sociolinguistic contexts depending
2
on contextual factors such as status of participants, purposes of the interaction, and
3

there are norms or conventions of interaction”.

4
9-  Regarding foreign language learners, problems can, in fact, be anticipated in Intercultural
1

Communication when Grice’s CP and maxims are adhered to in different ways by different
2

cultural groups, and participants in an interaction are not aware on these differences.
3
10-  Without a demonstrably immense superiority (_)zg skill over the nsovice , there can be no true
experts, only Iaypleople with imposing credentials.
4
11- Ericsson also citesstudies of physicians who clearly put information into long-term
1

memory and takes it out again in ways that enable them to make diagnoses.
2 3 4
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12- Having depended on the situation, this private speech (as modern psychologists call the

1
behavior) can account for 20 to 60 percent of the remarks a child younger than 10 years
2 3
makes.
4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

13- While many books are also on the market, a good DVD is a ----—--—----— substitute for a
yoga instructor if you don't live near enough to a yoga studio, no one nearby teaches the
style you're interested in, or you can't afford the yoga classes.

1) pellucid 2) mundane 3) viable 4) versatile

14- Nick, after sprawling on the couch for a couple of weeks after school, got out, eventually

overcame his ----- and went looking for a job.

1) commotion 2) exacerbation 3) triviality 4) lethargy
15- The Pinettes, a retired couple, are anything but —-----eeceeeeew in their interests because
they enjoy traveling, attending concerts, refinishing furniture, bowling, and canoeing.
1) parochial 2) cynical 3) extensive 4) utilitarian
16- “I drove a million miles during my week's vacation" is obviously --—--eeaeeaeeee,
1) profusion 2) hyperbole 3) ubiquity 4) circumnavigation
17- The ~--—eeemeenen- of a complex message can be aided by listing the main ideas it contains
and then writing a summary of the ideas in your own words.
1) broadening 2) divulging 3) amalgamating 4) decoding
18- I wanted to talk to my parents about my plans about dropping out of college, but I found
it very hard to --------—--—--- the subject.
1) alleviate 2) broach 3) diminish 4) purport
19- When the knights set forth from Camelot on their quests, they often endured great
hardships for their beloved --------=e-e=-= King Arthur.
1) sovereign 2) apostle 3) emissary 4) plebeian
20- The -—=-—-eee=—=, unemotional character makes an interesting contrast with the warm,
highly emotional character, who is the protagonist in the novel.
1) empathetic 2) buoyant 3) aloof 4) gregarious

21-  In the play Who's Afraid of Virginia Woolf? the husband and wife constantly -—-----eeeeueee
each other, denouncing one another for all manner of faults.
1) downplay 2) excoriate 3) overlook 4) scrutinize

22-  Most words are "lexical words" | i. e. nouns signifying " things", the majority of which
are --—--------—-- concepts rather than physical objects in the world; only "proper nouns"
have specific and unique referents in the everyday world.
1) abstruse 2) intricate 3) intrinsic 4) abstract
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PART D: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
_space. Then mark the correct choice on your answer sheet.

Although many parents might think that innate intelligence will govern how well their

kids learn to read (23) ----emmmmeeeemv what type of instruction is given. the evidence
suggests (24) ------mmmmmmee- . Two separate studies from the 1960s and 1970s have
shown that, in general, 1Q has very little (25) —=--mmmmmmeem- early reading ability. More

recently, researchers have found that children who have difficulty (26) —--—mmmeemmemm
have above-average 1Qs.
It might also be tempting to believe that the differences in early reading ability wash

out over time, but that, (27) -———-—-—-——-— , is a misconception. Keith E. Stanovich of the
University of Toronto has, for example, shown that children’s facility with reading in
the first grade usually provides a good (28) ---——--—--—-- of what their 11th-grade
reading proficiency will turn out to be. Why? Because reading requires practice, and
those who (29) -——-—mmmeeees end up practicing the most. Hence, the (30) ——--—--eeen-
between more and less able readers in the first few grades generally grows over the
years.

23- 1) concerning 2)as to 3) no matter 4) in terms of

24- 1) nonetheless 2) as yet 3) of late 4) otherwise

25- 1) bearing on 2) resemblance to  3) tolerance for 4) confirmation of

26- 1) how to read often 2) learning to read often
3) of learning for reading and often 4) to learn how to read and who often

27- 1)too 2) so 3) thus 4) either

28- 1) accession 2) mélange 3) cachet 4) gauge

29- 1) savor 2) withstand 3) excel 4) resent

30- 1) fallacy 2) gulf 3) inequity 4) paradox

PART E: Reading Comprehension

Directions: Read the following two passages and decide which choice (1), (2), (3), or (4) that best
answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:

One approach to thinking is similar to the way in which a sponge reacts to water: by
absorbing. This commonly used approach has some clear advantages. First, the more
information you absorb about the world. the more capable yvou are of understanding its
complexities. Knowledge you have acquired provides a foundation for more
complicated thinking later. A second advantage of the sponge approach is that it is
relatively passive. Rather than requiring strenuous mental effort, it tends to be rather
quick and easy, especially when the material is presented in a clear and interesting
fashion. The primary mental effort involves concentration and memory.
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34-

While absorbing information provides a productive start toward becoming a
thoughtful person. the sponge approach has a serious disadvantage: It provides no
method for deciding which information and opinions to believe and which to reject. If
a reader relied on the sponge approach all the time, he would believe whatever he read
last. The idea of being the mental puppet of whomever one happens to encounter is
horrible imagery for a person and a community. Decisions become accidents of
association, instead of reflective judgments.

We think you would rather choose for yourself what to absorb and what to ignore.
To make this choice, you must read with a special attitude—a question asking attitude.
Such a thinking style requires active participation. The writer is trying to speak to you,
and you should try to talk back to him, even though he is not present.

We call this interactive approach the panning-for-gold style of thinking. The process
of panning for gold provides a model for active readers and listeners as they try to
determine the worth of what they read and hear. The task is challenging and
sometimes tedious. but the reward can be tremendous. To distinguish the gold from the
gravel in a conversation requires you to ask frequent questions and to reflect on the
answers. The sponge approach emphasizes knowledge acquisition; the panning for-
gold approach stresses active interaction with knowledge as it is being acquired. Thus,
the two approaches complement each other. To pan for intellectual gold, there must be
something in your pan to evaluate. In addition, to evaluate arguments, we must possess
knowledge, dependable opinions.

What does paragraph 1 suggest about the sponge approach?

1) It is felicitous for clearly structured information.

2) It is necessary but not enough.

3) It forestalls creative thinking.

4) It can be arduous at times.

Decisions become accidents of association for people ----—eeeeeeeee- >

1) whom the author alludes to as mental puppets

2) who are not affected by any behavioral guideposts

3) with a low level of visualization

4) of an incredulous nature

Which of the following best describes the function of Paragraph 3?

1) It casts serious doubt on the validity of the main tenet of the sponge thinking
approach.

2) It presents a point to consider to enable people to surmount the caveat with which
the sponge thinking comes.

3) It further elaborates on one snag inherent in the sponge thinking.

4) It cautions against an uncritical embrace of the sponge thinking to handle all types
of problems.

Which of the following rhetorical techniques is NOT used in the development of the

subject under discussion in Paragraph 4?

1) Analogy 2) Function description

3) Process description 4) Comparison and contrast

Which of the following verbs is most associated with the verb "pan" as it is used in

Paragraph 4?

1) contemplate 2) rush 3) accumulate 4) sift
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PASSAGE 2:

One salient theme that emerges is, surely, the following. Language and rational
thought—so the language-as-instinct myth contends—are too complex and arguably
too mysterious to be accounted for without appeal to special knowledge. Such
knowledge is 'special' in the sense that we simply don't know where it comes from.
Experience, and general learning mechanisms, can't account for these unique features
of the human mind. Thus, language must be hard-wired, part of our genetic
endowment: enter Universal Grammar.

Richard Dawkins describes this type of explanation as an argument from
incredulity, while Daniel Everett notes that it boils down, essentially, to a lack of
imagination. It proceeds as follows: we (= the extremely clever. tenured professors)
can't see how children could possibly learn something as complex as grammar—which
underpins language. Therefore, they can't learn it. Thus. grammar must be innate.

The cognitive scientist Anthony Chemero has described such a move as a Hegelian
argument after the widely ridiculed 'proof' of Hegel. In 1801, Hegel claimed that the
number of planets in the solar system was seven, based on premises which he
provided. and had no evidence for. Indeed. we now know that there are eight major
planets, and five dwarf planets, including Pluto. The language-as-instinct thesis is
precisely this: a Hegelian argument.

But, speculation aside, we know, today. a vast amount about how language is
learned. how languages differ, how concepts are formed, and how language interfaces
with conceptual knowledge. While we certainly don't know evervthing there is to
know, or even a fraction of everything. at this juncture we are in a position to do far
better than the language-as-instinct thesis.

One of the objections. I anticipate, to my contention is that I am attacking a straw
man. Surely the 'myths' described above are not taken seriously? Indeed, one colleague
has firmly censured me with the following reprimand: "These 'myths' are extreme
views that barely anyone subscribes to."

Alas, this is not the case. The views that | classify as myths are presented as
established fact in many of the linguistics textbooks currently in use in many of the
stellar universities throughout the English-speaking world. For instance, the world's
best-selling university textbook on language is An Iniroduction to Language, written
by Professor Victoria Fromkin and colleagues. This book, now in its tenth revised
edition, proclaims the following in its very first chapter:

This business is just what the linguist attempts—to
find out the laws of a language, and the laws of all
languages. Those laws that pertain to all human
languages, representing the universal properties of
language, constitute a Universal Grammar.

Which of the following best describes the function of paragraph 2 in relation to the myth
referred to in paragraph 1?

1) It strengthens it.

2) It provides a historical framework for it.

3) It modifies it.

4) It impugns it.
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40-

41-

42-

43-

Which of the following best describes the author's attitude towards Daniel Everett

Richard Dawkins?

1) Profound ambivalence 2) Pointed disagreement

3) Wholehearted approbation 4) Indifferent and scornful

Which of the following best describes the function of Paragraph 3 in relation to

Paragraph 2?

1) It reiterates the position taken in paragraph 2.

2) It exemplifies the generality made in paragraph 2.

3) It traces the claim made in paragraph 2 to its historical origin.

4) It substantiates the type of explanation referred to in paragraph 2 as "an argument
from incredulity."

What does the author mean by "a straw man"' in paragraph 5?

1) Some critical colleagues of the author whose stand is indefensible

2) A weak target which is the language-as-instinct myth in this case

3) An illusionary opponent that the author himself has created

4) A number of scholars whose views are no longer in vogue

Which of the following statements is the author more likely to agree with?

1) Our knowledge of language is nowadays nothing if not exhaustive.

2) The language-as-instinct approach is not as pervasive as it was some time back in
time.

3) What Victoria Fromkin and colleagues believe in heralds a brighter future for our
conception of language.

4) Carefully heeding what we know about how language is learned can provide us with
a language acquisition model better than the language-as-instinct one.

LINGUISTICS:

The idea that speech developed from the instinctive sounds people make in emotional
circumstances is known as the --—-eeeeeeeee,

1) tool-making hypothesis 2) “bow-wow™ theory

3) innateness hypothesis 4) “pooh-pooh™ theory

The property of language according to which there is no natural connection between a
linguistic form and its meaning is called --—-----emeenev,

1) displacement 2) arbitrariness

3) duality 4) productivity

The process of not pronouncing a sound segment that might be present in the
deliberately careful pronunciation of a word in isolation is a phenomenon described as

1) dissimilation 2) assimilation 3) elision 4) nasalization
Words like telly, hankie, and bookie are examples of ~--eeeeeeeeece,
1) hypocorisms 2) calques 3) neologisms 4) eponyms

The word “irreversibleness™ consists of ——--eeeecameen,

1) one free morpheme and three bound morphemes

2) two free morphemes and two bound morphemes

3) one lexical morpheme and three inflectional morphemes

4) one lexical morpheme, one derivational morpheme. and two inflectional morphemes
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46-

47-

48-

49-

50-

According to prescriptive rules of grammar, which of the following sentences is

grammatical?

1) We would like to carefully examine the issue from another perspective.

2) Whenever anybody calls. please tell them I am not in.

3) Those are the men with whom | discussed the matter.

4) This is the family who we went on a long journey with.

The relationship between the words “king™ and “throne” is that of :

1) hyponymy 2) metonymy 3) polysemy 4) synonymy

Sentences like She was sort of excited or His hair was kind of oily are examples of hedges

on the ----- maxim of the co-operative principle.

1) Manner 2) Relation 3) Quantity 4) Quality

Which of the following statements is true about pictograms and ideograms?

1) Ideograms are much simpler to make sense of than pictograms.

2) Ideograms are more picture-like forms in nature.

3) Pictograms are more abstract derived forms in nature.

4) A key property of both is that they do not represent words or sounds in a particular
language.

Which of the following best describes an inference?

1) Additional information used by a reader or listener to create a connection between
what is said and what must be meant

2) An assumption by a speaker or writer about what is true or already known by the
listener or reader

3) An act by which a speaker or writer uses language to enable a listener or reader to
identify someone or something

4) The analysis of speaker meaning and identification of how more is communicated

than is said
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